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INSTRUCTIONS
Each question is printed both in Hindi and
in English.
Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium other
than that specified in the Admission Certificate.
Candidates should attempt Questions 1 and 5
which are compulsory, and any three of the
remaining questions selecting at least one
question from each Section.
Assume suitable data if considered necessary
and indicate the same clearly.

Symbols/notations carry usual meaning,
unless otherwise indicated.

All questions carry equal marks.
Marks assigned to each part of the question
are indicated at the end of the respective pari.
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SECTION—A
(@) Determine the transfer function of the network
shown in Fig. : 20
R, R,
# S MWW =R
v, = C, ==, v,
S e
Fig.

(b) A 50-Hz, three-phase transmission line is 250 km
long. It has a total series impedance of (35 + j140) Q
and a shunt admittance of 930 x 107® £90° 5. It
delivers 40 MW at 220 kV with 0-9 power factor
lagging. Find the voltage at the sending end by
the nominal-n approximation. 20

(¢) The instruction OUT FFH of 8085 is stored from
memory location 4048 H. The opcode for QUT
instruction is D3H. Draw and explain the timing
diagram for the execution of this instruction giving
timings for signals like ALE, Address lines, data
lines and memory. 20

(a) (i) By giving suitable example explain clearly
the difference between accuracy and precision.
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TE—F
1. ($)%ﬁﬁﬁ@ﬁqﬁwam'ﬂa=amrﬁa=rmﬁ:

20
R, R,
+ o——WW AW =0 4
V. =C, et 8 v,
- o Q =
=

(@) 50-Hz, -0 920 @ 250 km Tt 2 | 3660
Fe AN gfeaman (35 +j140) Q & X ¥iT gawgdl
930 x 1078 £90° U &1 @&, 0-9 % gwamHl e
TR F | 220 kV I 40 MW 3t B e
ngEAwe Aty & Yoo R 9x Aeear @ A

20

(T) ¥2w 8085 F OUT FFH, 4048 H wfq ¥or "
o # S 21 Muws OUT 3Re & o
D3H 2| Rraal & Fomde, S & ALE, 941
are, 7o orey @ iy @ R, 7@ Y W I
3 Proes @ fr augws s & 9 g9 |

20

2. &) (1) mmﬁmﬁmaﬁw%
frg Tosed: AT GHAE |
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(11) A power transformer was tested to determine

(b) (1)

(11)

losses and efficiency. The input power was
measured as 3650 W and the delivered output
power was 3385 W, with each reading in
doubt by = 10 W. Calculate the percentage
uncertainty in the losses of the transformer
and the percentage uncertainty in the
efficiency of the transformer, as determined
by the difference in input and output power
readings. 8+12=20

List the merits and demerits of outdoor SF6
circuit breakers.

Draw a simple one line diagram of a generator
breaker using SF6 breaker connecting the
generator to EHV bus through a main
transformer. 15+5=20

A 50 Hz turbogenerator is rated 500 MVA., 22 kV.

It is Y-connected and solidly grounded and is

operating at rated voltage at no load. It is

disconnected from rest of the system. Its reactances

are X" = X, =015 and X, = 0-05 per unit. Find

(a) the ratio of the subtransient line current for a

single line-to-ground fault to the subtransient line

current for a symmetrical three-phase fault, and
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(®)

(i1)

(i1)

gl 7 gear & Fftes s & o @
oifdd ZiewEET &1 ger far ) BT @@
TEhiE B + 10 WS dwag & g, faer wifed
3650 W ATt ¥ i et Prfw o
3385 W | affeaaar & widwa sHen EEHT
Y B ¥ T CiOwHET $ T A T Hi—
fraer 3R ety oifde oregisl & sfd & IR
| 8+12=20
& @ SF, uRuw fauemst i Il 4
g B A T |
St & i 1 0F 8 Thd aET I
@ie—SF, fadoe &1 g3 $3d gQ S @,
gg@ TR & Wl EHV &9 8 Sisd g |
15+5=20

(M) T 50 Hz zafsfr= 500 MVA, 22 kV X fafilRa
21 38 Y-uaim 2 iR .owus o-gwafea 2 3R
g ois X Frgia Sieear 9 y=ifed 81 99
g B aF ¥ e we femr B I9E gidwa 2
X" =X, =0153M X =005 9fd gHre| 7@
FU : () Th AT 9T -] A FEGI @ ATZH
gra F1, AN 3 B9 W B Rl # gEgifaee
AR 9T W FAIE, (§) 9§ ged s W
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3.

(b) inductive reactance in ohms to be inserted in
the neutral connection of the generator to limit the
subtransient line current for a single line-to-ground

fault to that for a 3-phase fault. 10+10=20

(a) Determine the stability of the closed-loop system

whose transfer function is given as :

10
T(s)= ; 20
(s) s’ +2s* +3s + 68> +5s+3

(b) Explain briefly what is the swing equation and use

dynamics of angular motion with time to formulate
the equation for a synchronous generator of inertia
constant H in seconds run by a mechanical turbine
with input power P_in p.u. to deliver electrical
power P_in p.u. to the electrical network at f Hz
in terms of power angle & in radians measured from
rotating reference of generator g-axis.

Indicate briefly how the solution of the swing
equation can be obtained by point by point (steps
of time) method of calculation. 20

(¢) (1) Draw the Mho and Offset Mho characteristics

of a distance relay for the protection of
transmission lines and give the main
applications of offset Mho relay.

6 (Contd.)
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TR W Jel 98 30 gfaed ohms ¥, R
TR FECINa-C TMET 810 UHed AT3A-H1-9-Q1S FT
gagifore |5 g1 /, 3 %9 q, Fua i
B 9 | 10+10=20

3. (%) Id 9E YU F TAflcq B TG L @ o
% A fear mar #

10
T(s) = . 20
(s) s’ +2s* +3s® +65* +5s+3

(@) Y gHfier Fr ® 8 A guwE) R s
i, Y & gy & nfd e &1 I v @
qeasiiern A F FHIHOT H GATE FA | A
H1 gcd Rud® H 8Fvs 3T a8 aiftas easa
@raam%,ﬁmaﬁﬁ%mmﬁﬁPmp.u.ff%aﬂT
aga @k P_p.u. ¥ 3Yd qRuume #1 f Hz )
Il 81 wifda w01 § (RBw=w #), sfFx 3 g-3=
F ged A goff & Arar M 2

g89 § sai & Yaur gdfiwcr 1 g sAfwe

&t fag X fomg (Twm & o H) Rfyr @ # g
fFar <1 9T B 20
(M) (i) T aRAl & g 3 ol 3w o &
% Mho 3T Mho AT Moy &1 di=En

I Mho HFde R F1 F&r sgyam T
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4.

(i1)

A 3 phase, 2 pole, 11 kV, 10,000 kVA
alternator has neutral earthed through a
resistance of 7 ohms. The machine has current
balance protection which operates upon out
of balance current that exceed 20% of full
load. Determine % of winding protected
against earth fault. Exclude the % reactance
of generator winding for calculation.
10+10=20

(a) Explain how the following adjustments are made

in a single phase induction type energy meter :

(1)
(11)
(iii)
(iv)
(v)
(b) (1)

Lag adjustment

Adjustment for friction compensation
Creep

Overload compensation

Temperature compensation. 20

With a neat sketch, show the block diagram
of a PCM transmitter and receiver, clearly
indicating the various parts. What are the
different types of quantizers ? Give a sketch
of the two types of uniform quantizers. How

will you reduce quantization error ?
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(i) TH 39,2 9, 11 kV, 10,000 kVA et
F 7 ohm ¥ WY ¥ s-wulha ~gga
et 81 Wl # arq wgf wxeor A @ S
fr gafeg Yar 2 sl e R oe ol
T F ¥ 20% e B | FIH 1 9@ e
Wﬁﬁg{%ﬁ%&—%ﬂ%%ﬁuaﬁa
Feelt & yiao &1 feer ST 7 T A
[ 10+10=20
4. @)w%ﬂﬁwmﬁmfmffﬁwwmﬂ?
(i) 9TEdr FHESA
(i) wefor gfgeor &1 FHESE
(iii) fadur
(iv) 3fEera gl
(v) TIIHT e oT | 20

@) (i) g% Yaifra @ @ PCM a7 s
F1 =i at@ ¢ X Sus Rfyg «am
F Tsea: ghug ¢ | fBf Aifa & Faies
T 2 ? A Wil F THEEE FEITH F
e | FEdEw qfe B oI FH PR
FAN 7
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(1) Bandwidth of an input signal to the PCM is

() ()

restricted to 4 kHz. Input signal varies in
amplitude from —3-8 V to +3-8 V. It has an
average power of 30 mW. Required signal to
noise ratio is 20 dB. The PCM modulator
produces binary output. Assuming uniform
quantization, find number of bits required per

sample. 12+8=20

Sixteen bytes of data are stored in memory
locations 7000 H to 700F H. Copy the data
to locations AOOF to AOOO H such that the byte
at 7000 H is copied at AOOF H, the byte at
7001 H is copied at AOOE H and so on.

(1) Describe the flags of 8085 microprocessor.

10+10=20

SECTION—B

(a) With the help of a block diagram explain the

principle of working of a digital storage

oscilloscope. Discuss advantages of this

oscilloscope over analog oscilloscope. 20

10 (Contd.)
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(M @

(ii) PCM & & 3w §@a ot ¥5 s 4 kHz

v diftm &1 e ¥9a &1 s 3-8 VA
+3-8 V% Fgaar 2 | I 30 mW FT 3ad
g 21| IEeg® FHd ® W@ I FAIW
20 dB 8 | PCM #iges fsiat Frfa Sea=
HIA 8| THEAE FEEHOT A 8Y, g
THAT, IEATEF FAT B FE@d T DR |
12+8=20

dicfe ETgc H < 7000 H & 700F H Ffa
Al ¥ gufdd 81 @9 A F%a 0 AOOF
¥ A000 H &Y o ¥& f& 7000 H 9T =i
gge #1 Fod AOOF H 9T &, 7001 H 9
# 95 B AHd AOOE HUx &1 33X T/ &
3T |

(ii) 8085 ATHHAAET F 3 &1 quiq FU |

10+10=20

wWe—@

5. (F) sdfd JE H GG q, TH AP TG A&
® 7 » frEid & gued | 3@ AAA_EN B,
FTET A B gHEA, FEal 9 FEET w1
20




(b) ()

Give two reasons for using c.t.s. for over-

current protection in ac medium voltage

distribution and subtransmission of power

systems. Explain the term ‘Plug Setting’ (P.S.),
define ‘Plug Setting Multiplier’ (P.S.M.) and
draw a typical time of operation t (in seconds)
versus P.S.M. characteristic of an Inverse
Definite Minimum Time Lag (IDMTL)

overcurrent relay showing its speciality.

Draw the c.t.s., phase and ground fault
overcurrent relay connection diagram at a
substation for the minimum number of relays
to cater for all types of fault on a 3-phase
overhead line. What modification is necessary
to extract information about the type of fault ?

For a radial 3 phase 11 kV, 50 Hz line ABCD
fed at A only, a relay at substation C clears
the 3-phase 200 MVA fault close to C in
section CD of very short length in 0-1 sec.
Find the P.S., P.S.M. and the Time Setting
Multiplier (T.S.M.) of the IDMTL overcurrent
relay at substation B connected via 400/5 amp
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(=) (1)

(i1)

(111)

ofd @3 B ITEE T ac W ATl @A
¥ afaara @0 3 B cts. B v w3
F T FTOT FARN | g w IFedrdq’ (P.S.)
F THARN, @0 e U’ (P.S.M.) F
qfeme 3 AR gTefd yEEE w6t (890
¥) g fam fFftee —gaaw g7 e
(IDMTL) sfear & & P.S.M. sifrereqor &t
IgF fagver Rew g &

&7 o9 & R dF T R Wik #
AN @1 yE" FA F o F R w g
e @ R & ITRYE UT cts, B9 Y
w-3w g RS §@em w1 @ @i
Ay FY Wit A I 9= B A P e
CICEDE I S

w Brew 3% 11 kV, 50 Hz @159 ABCD,
AF Fad AT 70 8, & Ra oo
C WX & ® &, 9gd BT @ A R8T
CD X ‘C’'® 9™ 3 %9 200 MVA T
0-1 sec ¥ Bz &1 P.S., P.S.M. 3R &7
Faeae U (T.S.M.) IDMTL &, 3faara
RS Igeeed B F 7@ &2 | IDMTL faara

R Suedw B WX ST 8 F@1 400/5 amp
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(1)

c.t.s. to provide a discrimination time of

0-5 seconds. The nomograph of the relay for
TSM = 1-0 is as follows :

t (in secs) : 316 3 2.4 22
P.S.M. : 13 10 16 20

Justify the discrimination time of 0-5 seconds
based on a 5 cycle breaker.

For choosing P.S., P.S.M. should be as close
to 20 as possible. 9+4+7=20

What are the advantages and disadvantages
of delta modulation compared to PCM ? With
the help of sketch, mention the various noises
associated with delta modulation. How will
you overcome these noises ?

A sine wave of frequency f and amplitude
A_ is applied to a delta modulator of step size
A. Show that the slope overload distortion will
occur if :

A

A, >
2nf T,

where T, is sampling period. What is the

maximum power that may be transmitted

without slope overload distortion ?
10+10=20
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(i1)

c.t.s. = @wg 05 %03 F PR FA B
| R 1 w@r =1, TSM =103 fomd,
= 2 T 2 :

t (in secs) : 316 3 24 22
P.S.M. s 15 10 16 20

0-5 v B BAFTT GHT H 5 GEHd @AUEE
& ama X I s F:O

PS.,PSM. & A 20 % U, = «f o
B T &R | 9+4+7=20

3eeT Aigad &, PCM &1 goAT &, & 3
giferai @7 & ? Y@t i #eg § Sver Aged
¥ ot Ay @ &1 IeoE FL | AT DY IA
@ /& g gEn ?
aq%meMAmaﬁ@Waﬁw
e A 9T el HigfoA UX AT S #
fra & o aftwR fasgor gnm ofe

A > 2
2nf, T,
Rred T, wforam= &1 8 1 o siferwre faweaor
3 g fhad sftan wfd =i enft ?
10+10=20
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6. (a) Consider the system shown in Fig. 6(a) where the
damping ratio £ = 0-6 and the natural frequency
® =5 rad/sec. Obtain the values of rise time t,
peak time t_, maximum overshoot M and settling
time t for the 2% criterion when the system is

subjected to a unit-step input. 20
R(s) ®} C(s)
s(s+2f @) B
Fig. 6(a)

(b) (i) Write a segment of 8085 Assembly language

program to execute the instruction NOP 1000
times.

(i1) In I/O mapped I/O mode of 8085, how many
maximum input devices and maximum output
devices can be connected ? What will be their
addresses ?

(111) Which flags are set or reset by the following
instructions ?

(a) INX B
(b) CALL < address >
(c) MOV A,B 8+6+6=20
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6.

@) R 6 (F) ¥ Red yomeht ww e w31 A

(¥)

FAHIA FAE & = 0-6 AT TW@HIEH AR 0, = 5
rad/sec & | 2% & Fra & fol sepdd w99 t, fire
w9t sftreras rfasRaoT M sﬂTf%ﬂTﬂTWt
%mmaﬁt mw@wmwﬁﬂww
21 20

R(s) ©; <o
s(s+25 @)

IRER XED)

(i) NOP 1000 X & IR & &HE(Faq HLA
& R &, 8085 gH-AIA HIST FUH & @US
%1 ferar |

(i) 80853 VO WA O faar # faa-T ftean
Praw gimat T ol sfeaw Frta g
H ST O GHAT & ? I ga FT BN 7

(i) = sgRel & B #Si &1 T @ gA:
T far s 8 7

(a) INX B
(b) CALL <9dr >
(c) MOV A,B 8+6+6=20
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7.

(c) Give the block diagram to recover baseband signal
from a BPSK signal. Also plot the power spectral
density of BPSK signal. From that plot, show that
minimum bandwidth of BPSK signal is equal to

twice of the highest frequency contained in

baseband signal. Mention one major drawback of
BPSK receiver. 20

(@) (i)

(ii)

How is the differential output taken from an
inductive transducer ? Explain the advantages
when inductive transducers are used in push-
pull configuration.

A LVDT has an output of 6 V rms when the
displacement is 0-4 x 10~ m. Determine the
sensitivity of this instrument in volt/mm. A
10 V voltmeter with 100 scale divisions is
used to read the output. Two tenths of a
division can be estimated with ease.
Determine the resolution of the voltmeter. The
above arrangement is used in a pressure
transducer for measuring the deflection of a
diaphragm. The diaphragm is deflected by
0:5 x 103 m, by a pressure of 1000 N/m?.
Determine the sensitivity and resolution of
this instrument. 8+12=20

18 (Contd.)




(M) BPSK &@d & ok &3 &Ha & gA: I F
F1 sAld IE@ o | BPSK §%a & wifdd TagH
e F1 ff e ¥ | 39 o § @i fF BPSK
gda @ =gaH ¥3 AISTE, AR §T Foha A BA
arelt Ieaan sngfr @1 guAT 81 BPSK el
N TF @ G T | 20

(1)

(i1)

s I giusgEx ® 4, Rady frfw 3
o /& ? v W giESgER F qE-FE0
g ¥ ymifig B smar 2 a9 IEs a™
FT B, gHAN |

ud LVDT &1 78 6 V rms 8 919 Rzum=
0-4 x 10° m 81 T HIGGA &1 Furiedn
dec/mm ¥ I HL | 100 el AW FTA
T 10 V drecdiex g 9g # gaifia 2
3 TEE NN HIGAl § ARG 81 Fhd B |
FrecdieT &1 [{AeT I F1 | FA4 TFE
&1, SAMHM &1 38T AR & ol 99 JasgE]
¥ o SET 811000 N/m? F 3@ U, SHTEH
0-5 x 107 m R@fE & 81 @ wwEA A
gufear s s\ #:T 8+12=20
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(b) An 8085 processor based interrupt system requires

(c)

handling of 11 interrupting devices, excluding
TRAP interrupt. Show schematically how this can
be achieved. Indicate any one interrupt vector
address. 20

(1) A (6, 3) linear block code have the following
parity-check matrix H :

— e

1
1
]

o O =
o T =
—_— O O

1
H=| 0
1

Determine : (i) generator matrix G and
(11) code word for the data bit 101.

(i1) Give a basic sketch illustrating a convolutional
encoder with k = 3, k = 1 and n = 2. What
are its advantages and disadvantages over
block codes ? 12+8=20

Consider the state equation :

. = + r(t)
0 | | -2 =3 x,®) | |1 '

Find the state vector X(t) for t 2 0 when the input
r(t) i1s a unit step input. 20
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(@) TH 085 TR Ux InETRa IAaTAA YU &,
TRAP siqq@= & remar, 11 sfacmafra gt &1
ERAFTT FCAT RN 21 TE Y U ST HHAT B,
ATt e | 8 off TF g qiew udl

@M () T (6,3)F Ty wim B 7 e wHew-se
X SITGEH%:
J 19 1{1.0 0]
H=/0 1 1 0 1 0
(1 1100 1]

T FX : (i) TP EgE G AT (i) 7 Re
101 &7 HI TS |

Wﬁaﬂ%mamw%?
12+8=20

8. (F) HIEAT FHIHIU WX fEmr #%
[{{‘(t)]{ v 1][ "r(t):‘+[0]r(t)
xz(t) -2 =3 xl(t) 1 .

zam &Ry X(1), t > 03 o, §@@ HY, EERBEE
r(t) et um Fraw 2 20
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(b) A 50-Hz generator is rated 500 MVA, 20 kV, with
X", = 0-20 per unit. It supplies a purely resistive
load of 400 MW at 20 kV. The load is connected
directly across the terminals of the generator. If
all three phases of the load are short-circuited
simultaneously, find the initial symmetrical current

in the generator (RMS value) in per unit on a base
of 500 MVA, 20 kV. 20

(¢) Draw the block diagram of a microprocessor based
distance relay for protection of transmission line.

20
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(@) Th 50-Hz 7, X = 020 9fd gfve & @9,
500 MVA, 20 kV 7¥ fraffta 81 @8 & &7 @
400 MW & glarg s, 20 kV 9% 9<T &l 2 |
drs, st @ <l @9, g1 81 T s
® TR AT B9 O Y9 8 9 8 Q1 AAA
¥ yrfews gufdg gra (RMS A1), 500 MVA,
20 kV & 3 WY, gid giHe § & | 20

(1) FEIT AR B @ B o ATSHMEE 9T I
T & #1 =i a9l | 20
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Ya9-97 YT Ifcafda A & Jfafd 37q
fadt mregm | for@ 1T 39T g7 FIE FF AT
T S |
ge7 q&qr 1 3R 5 e &1 st goar &
q ye® §vs § FH-§-FH QF 999 AT
=gt &7 9991 & 37 Aoy
fe SaeaF & dr IGFT AIFS! BT TGT PG
ayr IFH [Afdse FifoT
gdisl 3 gPaal & gafod s & o9 g
3=gYT 7 Fel 74T 8l |
¥t gl P IF GHIT £
ggql & gcd®d 9O F fow IEfed IF,
gafega 9 @ da ¥ Ry 17 &
Note : English version of the Instructions is printed on the
front cover of this question paper.
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